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Summary of the last presentation

o 75 EDEN RS\ —(C5E

We focus on elderly drivers over 75 years old
- & RS A\ = (C K DIBEBERIFE 4 BN
Number of traffic accidents caused by elderly drivers increases

REDHOFER. BEwaEDEDEX(IMOFERLIDFU

From basic analyses, transport share ratio of cars by the elderly is higher than the others

o PTIAENMSMNLZ W\ T SinBEDRBFENEIRES )L ZiEE
Build transport select model of the elderly by the MNL from PT survey
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From this model, we see shat occurs if the retire from driving is promoted
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Advices from professors

o SEMBADRIFEINEIS (FEEY — > TERDCEZBEBING
Consider the ratio of returning is different in regions because of the accessibility of trans

Y — 2 NDEKEER - JCIBEADT D A 7Z24&5 UTeh —D 9 DR DD(FIFHEER

However, checking all zones and their stations and bus stops is hard...

= MM EOBEERBRZADDCAVZ (HEERDDZED ?)
Instead, the number of car ownership is used (and maybe there is a correlation...
o T—HRICIESDETHHD

The amount of data differs in zones

= ILARFREERANTES DS ZHEM

Using expansion coefficient to moderate fluctuation

o BAZEMNDIRVWVREDTRKI DN ?

What can we do when explanatory variable are few?




SO yakin

Ny

REISIROBEEBEHERGVC(IIERERBFENSDDZED (- - - BT D)




2.1 E)LIEEDBIED

Process of creating model(1)

> BEDASA ROBED., {HERZHRELUZ

As the previous slide, the target area is Saitama prefecture

» BRICEIDED (SWeEHRE) ENRFHInBORME, (BeEmh

There are downtown and areas with little public transportation in the Saitama prefectu

X&) HFE
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here are enough samples for 75 yeas old

> ECORBEE— RZEXHRE U

All traffic modes are discussed

> J\A O E)NRCDNWTIHMENNE D ETzsbh T & & LTz

For motorbike and buses, the value was so small that we decided to remove it
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» BE )R- BOXCBBERE (BHT—4) DIEZDLD

Make formulae of train, bus, car, cycle and walk including car ownership (dummy)

train <- exp ( cl*(DataSBE@SEHRTF==0) + bl*matrix(1l,nrow=hh, ncol=1))

bus < exp ( c2*(DataSB#EFH==1) + b2*matrix(1,nrow=hh, ncol=1))

car <- exp ( a3*DatatPTEEME/100 + c3*(DatatBEHEFT=1) + sl*(Datalfsex=1)+ b3*matrix(1,nrow=hh,
bicycle <- exp ( ad*DataSPrE B/ /100 + b4*matrix(1l,nrow=hh, ncol=1))

walk <- exp ( aS5*Data$Pi EK[/100)

LU, BEORICEAUEZAND LIENELRD iz I HELE
However, we were told that including same items made t-value bad

ncol=1))

» ERR, BEHEDXIL MO
Actually, t-value was not good
[1] -2.07135446 -2.01055679 -0.11615308 0.30224508 1.17667611 -0.52942540 0.62912147 -1.28082267 -0.31600734 -0.02128721
[11] 0.80077692

- ## tfE

> print(tval)
[1] -8.845B00 -13.071496 -1.045552 1.114245 4.901384 -1.744193

6

7.76085

-5.544376

-6.926875

5.227992 -4.819005




2.3 EFI)ILIEEDIBIER

> I 7(1—?*31517&%)% ULCEBEFREAH (BT —F) Z AN

Consider the expansion coeff1c1ent and input car ownership (real number)
train <- exp ( cl*(DatatBEEE=B/IZ/100) + bl*matrix(1l,nrow=hh

, =hh, ncol=1))

bicycle <- exp ( a2*(Data$PrERRF/10000) + b2*matrix(l,nrow=hh, ncol=1))

car <- exp (d3*(DatatBEEEB0=—=1) + c3*(DatatEHHEREFE/100) + s3*(DatatSex==1))
~walk <- exp ( ad* (DatasPTER R /10000)+ bd*matrix(1l,nrow=hh, ncol=1))

> TIERE

T-value is below
> print(b)
[1]

3.3098410 4.1527917 4.6936675 -0.1950893 0.9602681 -8.1886215 0.5473301 -4.9029980 0.5002650
> ## tiE
> print(tval)

[1] 3? 22468? 67. 010386 75. 4%5211 —8 246541 52 983259 ED ?35?60 3? 929411 -63.300135

24.468117
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Destination2: zone which advances
ublic transportation
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Destination1: zone which
depends on car
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railway car bicycle walk railway car bicycle  walk




